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1. ferer ) T g 9 AR 22
[SSC Multi-tasking 2014]
(@) =T XA (b) =IYON

(C) HIASI (d) FTITE TIRE
Answer — a
2. TR arqHvSH H T & gaiftu®
e fFes fiaeest adt 22
[SSC Multi-tasking 2014]
(a) BTSgIoH
(OEEESIESIENIES
(c) SiTrToT
(d) ATSCIo
~ e N N\ N\ea

Answer —d




3. SIEE & HROT agHUSH H AT B2
[SSC Multi-tasking 2014]
() =1 T19 b) = o
c) = @ (d) = aEE

Answer —b

4. wirw fogm formen fagm 22

[SSC Multi-tasking 2014]

(a) eI (b) Y& B
(c) A H &I (d) Scmrt &I

A

Answer —c

._5. 2 o 31 ® [ssC Multi-taskihg 2014]
(a) TR (b) HORIE
() woiuRlt @ (d) IF wH AT

Answer —d




6. Fr=1 % § frEal I Hics AR
<hgl Sl %? [SSC Multi-tasking 2014]
(b) Ta=e

(a) fEHTeTT
(C) IRTTAl

Answer — a

SN O

(d) "I

1l

7. T Tl S o R ad g an?

(@) 99 1869
(c) 99 1905

Answer —d

[SSC Multi-tasking 2014]

(b) 99 1980
(d) a9 1914




8. I ¥ SIS &1 Nfw fwaAT o

%? " [SSC Multi-tasking 2014]
- (a) 0.94% (b) 0.03%
(c) 78.03% (d) 85.02%
Answer —C

9. TSI T Hal UKE it 82
~ [SSC Multi-tasking 2011]
(@) eNYHvSA (b)) SMITHISA
(c) FHAIHYSS  (d) dfRHUSd

Answer —c

10. 5@ Fide A9E Uk FEl 1ogaq 872
[SSC Multi-tasking 2014]
(a) STRTEVS (b) 38T UST
(c) HET TQe (d) fZaraet uew




Answer —a

11. frefafee & @ F9-@ T
SeaEa SEfiTs WY T 87

~[SSC Multi-tasking 2014]
@FR (o) T
(c) SFRISR (d) STTRIETS

Answer —d

12. WitureH Ife H, @ra &1 Taifas
gifad s {9 diell Rk fhdel
[SIRG %? [SSC Multi-tasking 2014]

(@) HITITT (b) qﬁa—gi[
(c) I (d) Zareat

Answer —a




13. F=fafae & @ wR-@t 9@
fier-wager wia SfRN ¥ o=

gt %? [SSC Multi-tasking 2014]
() TFA ~ (b) P
(c) TTeTax (d) =T

Answer —d

14. SAEET & ¥ AT ?
- [SSC Multi-tasking 2014]

a) A #ff® Srgua

Answer —b




15. YT N STcATEa STeel aTell el &

[SSC Multi-tasking 2014]

(a) TS (b) reTepraT
(c) T~Tg (d) feoed
Answer — a

16. ToFT I U9 & T ST T
Tl HE S
. [SSC Multi taskmg 2014]
(a) A (b) HA
(c) aR=H €1 (d) BINTS

Answer —d




17. G ¥ Had HA TBR HH- &7
[SSC Multi taskmg 2014]

C) dIqard UGN

(d) TUTEUS UBR

Answer —C

18. 7T F WEH % SRA  9KAE
IuEEY W fefafea 7 9 faa &
N fag T warg?

[SSC Multl -tasking 201 4]
(@) TS Bl N
(b) YSRAE
(c) IR 9Rd
(d) HeTTT

Answer — b




19. Wﬁmﬁﬁmwﬁ

S e afed -1 87
~ [SSC Multi-tasking 2014]
(a) FETQ ORIEEN
(c) F=m (d) =1
Answer = Db

20. IR TIW I R Usa B

firera €72
(a) ORI
(b) TS
(C) I
(d) #eT U=

Answer — a

[SSC Multi-tasking 2013]




